clERE B g
(-E/') ﬁ;aLun Connector

e 6,10, 16, 24, 32, 48 Contacts i
( Screw) e Current: 16A (E Senes)




ot B R
L.-/ HuaLun Connector

HLE Series

(@ TUVsw (€

ISO9001 1SO14001 1SO45001

H Inserts .
Number of contacts: 6, 10, 16, 24
32 (2x16), 48 (2x24)+PE 25
- \ﬁ\
HLE 16A 500V 6KV 3 g 20 O
_ NESSABNN
Working current o 15 4 \\fl ™~
= \\
Working voltage ;‘5‘ \§\
10
Rated shock voltage \
Pollution degree 5 \
Pollution degree 2 also  16A  400/690V 6KV 2 [ Wire gauge: 2.5 mm?
20 30 40 50 60 70 80 90 100 110 120 130 °C
Ambient temperature
Working voltage acc. to UL-CSA 600V
Insulation resistance =101°Q @® HLE®6
Material Polycarbonate @ HLE 10
~ °C ~ + o
Temperature range 40°C ~ +125°C ® HLE 16
Flammability acc. to UL 94 V-0 @ HLE 24
Mechanical working life =500
-mating cycles
B Contacts B Hoods/Housings
Material Copper alloy Material Die cast aluminium
Surface - silver plated 3umAg Surface Powder-coated
Contact resistance <1mQ Degree of protection acc.to IEC/EN  IP65/IP67
Screw terminal mm2 2.5 mm?2 60529 for coupled connector
AWG 14AWG
-Tightening/test torque 0.5Nm B Screw Terminal
Screw
B Current Carrying Capacity
Current-carrying capacity tends to decine with the ambient
temperature going higher and its contacts increasing. Wire
protection
A
30 There is spring inside the
terminal, tightenthe wire, which
avoids the bare wires twisted and
% broken caused by the screw.
5 @: @\ Tightening/test torque
D .
§ 15 \g\:\\ Wire Gauge 15125 ]| 4 6 |10 | 16
2 . PR Screw M3 | M3 |M3.5| M4 | M4 | M6
\§\\ .
N Test torque 0505|0812 [12]12
° \ | Minimum pull-out
Wire gauge: 1.5 mm? force of the 40 | 50 | 60 | 80 | 90 | 60
S S I — stranded wire

2 30 40 50 60 70 8 90 100 110 120 130 oy
Ambient temperature

* For headless fixing bolts HLK 4/8




o 1L
'|'['_'jVS[-JD C € </ 1509001 1SO14001 1SO45001 LH/” ;;J&fcifdw .

— E Series Connector —

HLEG6 500V 16A

Contact arrangement

P (Pin) View from termination side S (SOCKet)
6S+D

o=,
Qe

Part Number HLEGP

M3 x 10
ic}

3

w

BOE

M3 x 10

51 34—

Shell style see Page 56

HLE10 500V 16A

. Contact arrangement
P (Pln) View from termination side S (SOCKet)
P S
® g @ © @
e @- -0 Oo
~o on vO O~
©o® 0w @w(O Om
©c® 0> 20 Qo
S0 e« a0 03
¢ Do ¢ 9o

Part Number HLE10P

57 27
L paca . oo
fileesenty  _@ 47, ik
m i % o -
2 -

Shell style see Page 57~59



o £
. ; H Ejﬁfbﬁﬁaﬁor '|'|.'.'jVS[JD C€ V¢ 1SO9001 1SO14001 1SO45001

— E Series Connector —

HLE16 500V 16A

. Contact arrangement
P (Pln) View from termination side S (SOCKet)
P S
@ @ S c3 @ &
©c® 0- -0 Oe
se en ~nO 03
20 0w «O O=
. e e~ ~0 OR
L ze oo =0 03
- 20 0o 0 02
50 O~ ~O Oa
>0 0o «0 O3
o © o o D o

27

Wesiasias|¥

i hirannnnl

_.
o

i)

[mw)

®
1.2] 174

32.5

M3 x 10

Shell style see Page 60~62

HLE24 500V 16A

Contact arrangement & (Socket)

View from termination side

Part Number HLE24P

104.2 27

00000000000

[T 1T I

M3 x 10

Shell style see Page 63~65



R B R .

ISO9001 1S0O14001 1S0O45001
L-/ Hualun Connector

— E Series Connector —

HLE32 500V 16A

. Contact arrangement
P (Pln) View from terminagon side S (SOCKet)

32P+@ ’ >

fB@fB $@$ $@$ $@$
- 50 0 ([c® @~| |~O O«[|30 OF
xe ez|[ce e~ [vO 03|30 O
Ne 3| [2e ev| |0 0=||z0 Oy
. xe o3| |se e~ |~0 Ox||n0 OB
5 ze en|[ze eu| (w0 Oa||r0 Oy
e ] i = 20 ON||2@ @2 [0 OR||NO 0%
R l J}}-}"-.; o o3||ce @~ |~0 0a|[x0 o
S r},.-;f:.,. Ko O |50 | (O O3||RO OF

" = = =
\ ¢ Pl Pe ©@olle® ¢

Part Number HLE32P

77.5 ) 27

'@h@‘@i@u@'@'@' &) N ;_“\ Pavaviv-v-v ml.’l- = S
_,,_.'M|M||\!,_ o b @@@@@@@@ o
] i x ~F ™ Pnnnnnnly v

a -

Shell style see Page 66~67

HLEA48 500V 16A

' Contact arrangement
P (Pln) View from terminat?on side S (SOCket)

48P+ ° ° 485+

$$@$ $@$ S o &

%o o3 |ce @~| |~-O Oa||BO 0%
£0 o3| (ne o NO OR|[80 O8
20 0% |ae 0| |©O Oal|NO 0%
o o3| |0 @~ |~O O3||BO 08
Lo 3|30 0 a0 03|80 O&
0 03||z® @| |00 Oxz||80 OB
o o2 |0 o~ ~O O3| |20 08
fte ol |Be o *O O8||8O Ok
50 03| |Ne @c| |©O OX||80 O&
50 o |Ne o3 30 OR||®O 08
%0 05| |Be @2 |20 OB||80 O%
50 03| |Re o3 SO OR||80 0O&
Part Number HLE48P 6D oo Dol lo@alled o

104.2

EXEXDEANONAAKONNE)

1

325

@
12174

M3 x 10

Shell style see Page 68



e 1£
. L_/"' e d & JVs // 1809001 1SO14001 1S045001
HualLun Connector

— E Series Shell style —

E6 Code
P I u g Accessories see P98-100
SEL TEL boto
Side Entry ’ Top Entry
HLEGTEL
— T
b 23 ‘ D 0
& = ¢ || a = & 1|
60 L 43 60 L 43
Receptacle b
BHL BCL OSL OCL TSL TCL
Bulkhead Bulkhead One-Side Entry One-Side Entry Two-Side Entry Two-Side Entry
With Cap With Cap With Cap
= “"jg s ‘am

PG16

HLE6BHL HLE6BCL HLE60OSL HLE60OCL HLEG6TSL

| Ee | A

5 T
2 K44 F 5 45 as] o L d44 T 5501

PG
PG

A —
k. [q]
PG
T
| |
_ = %,
‘ I
PG

117
»
@
e

3
o
>
kS

B‘J

o
&
o
11

4

) 2r8,5
S o | l
b3
22.3~—43 —~
Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
[ Drill four holes at center intervals
j%f ﬁ o A
8 o g—*
, s
48 & ol
‘ ) Unit: mm

70




o 1E{p
'|'[JVSUD C € </ 1509001 1SO14001 1SO45001 L_II/) ;;J&fcifdw .

— E Series Shell style —

E10 Code
P I u g Accessories see P98-100
SE TE Y
Side Entry Top Entry
HLE10SE HLE10TE
Hanl
> 5
6 6 . e o v
73—J L—43— © ©
73 43
Receptacle
BH (0153 TS
Bulkhead One-Side Entry Two-Side Entry
6’ " PG13.5
PG16
PG13.5 PG13.5
PG16 PG16

HLE100S HLE10TS

16.3 94 16.3
55
'—.‘ 55 55
] g

Li;‘l_o,l
52—

The mounting panel does not open rectangular holes
Drill four holes at center intervals

Panel Mounted & Mounting Hole

$
Z
. ﬁ 82

{ s | ° JQ

83

Unit: mm




® 'ﬂf.
. ( > Hu;ﬁfciﬁmr T[JVSUD C€ </ 1509001 1014001 15045001

— E Series Shell style —

E10 Code
P I u g | Accessories see P98-100
SEL TEL Pato
Side Entry Egg.s Top Entry

o [
? [T]
g & —@—— o
L= © H = &
73 43 73 43
Receptacle by
BHL BCL OSL OCL TSL TCL
Bulkhead Bulkhead One-Side Entry One-Side Entry Two-Side Entry Two-Side Entry
With Cap With Cap With Cap

&= 2=

HLE10BHL HLE10BCL

HLE100CL HLE10TSL HLE10TCL

@ a
L =] ety
H ﬁﬁr
e RS ] P [l T
945 . a . — & g
\ . 5.5 [YXIilik] 4’55:1 IL af assl 1
03 82 82 82 82
94 94 94
N I E_
1] s e I
L—‘J Li—l 40 | 40
168, 168] 43 (222 123 52 176 123 | 123 52 17.6
Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
) Drill four holes at center intervals

-

m ft ey
8 8 1Y .
{ a0 % ® 6 I

83 Unit: mm




@®TUVsw (€

1ISO9001

ISO14001 1SO45001

o feRd B8
LH’/ HuaLun Connector

— E Series Shell style —

Plug

E10 Code

Accessories see P98-100

SL

Side Entry

TL

Top Entry

PG13.5

HLE10TL

4743»{

BC
Bulkhead
With Cap

29.1

e

434 69.3

oC
One-Side Entry
With Cap

PG13.5
PG16
HLE100C
| 4
B )
i $55
82 -
94
by
| a0 | 181
52 64.6

Panel Mounted & Mounting Hole
¢

gl

83

0
[}

1

The mounting panel does not open rectangular holes

Drill four holes at center intervals

Two Side Entry
With Cap PG13.5
PG16
PG13.5
PG16
HLE10TC
,£ ]} 2
= 5511
82 -
94
:--:':.i\
<
| 40 181
52 64.6
82 4-9¢
e
Ik
Unit: mm




ot B R
u HuaLun Connector

(@ TUVsw (€

1ISO9001

— E Series Shell style —

Plug

E16 Code

1SO45001

ISO14001

| Accessories see P98-100

SE

Side Entry

76

SE

Side Entry

TE
PG21|  Top Entry

PG16

TE

Top Entry

PG21
PG16

| B o =]
Receptacle
BH oS TS
Bulkhead One-Side Entry Two-Side Entry

103

d : : PG21
i I PG16
s d PG21 PG21
PG16 PG16
HLE16BH HLE160S HLE16TS
& @ ® % f
] PG > PG N PG %
e Al . ] Il Al ‘ ] ]
55 H4 i 55 [ gg ﬂ“ 105 s5 il l._.;g
”'5. 117 115 11.5 117 11.5
Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
Drill four holes at center intervals
¢
% % 105 4-¢
A N S
2 & & [
2
82 $ $

Unit: mm




o 1>
7 1S09001 1SO14001 1SO45001 ( H > ;—1Lb ﬁc&gt
i uaLun Connecior

— E Series Shell style —

E16 Code
P I u g | Accessories see P98-100
SEL TEL TEL rato
Side Entry Top Entry Top Entry

HLE16TEL

J I
[ T
i [ 11
© [ (] k i
4;3 43
Receptacle b
BHL BCL OSL OCL TSL TCL
Bulkhead Bulkhead One-Side Entry One-Side Entry Two-Side Entry Two-Side Entry
With Cap With Cap With Cap

PG2
PG16

PG21
PG16

PG21
PG16

PG!
PG1

PG21
PG16

HLE16BCL HLE160SL HLE160CL HLE16TSL HLE16TCL
===
SL ""L * : ; I 455 :2
f 1o $45 I Lﬁ_ o5
% e R
16.8 L%J 16.8‘ L%_I 122.2 98 | L% ‘

Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
[ Drill four holes at center intervals

ﬁ 105 2=l
o [
N @

‘ 82

T o ol

103 ' Unit: mm




® 'ﬂf.
. ( > Hujﬁfciﬁmr T[JVSUD C€ </ 1509001 1014001 15045001

— E Series Shell style —

E16 Code
P I ug | Accessories see P98-100
SL SL TL . pozi
Side Entry Side Entry PG21 | Top Entry Top Entry PC16

q

Receptacle
BC ocC TC
Bulkhead One-Side Entry Two-Side Entry
With Cap With Cap With Cap
PG21 PG21
PG16 PG16
HLE16BC HLE160C HLE16TC
a
e o LT L1
L S S [ LIS |
B R t;‘?ﬂ 622
Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes

Drill four holes at center intervals

¢
% ﬁi L 105

Yo}
®

= | 6 e}}

103 ‘ Unit: mm




® 4&
1ISO9001 1SO14001 1SO45001 ‘H 2 1L ﬁc&gt .
uaLun Connecior

— E Series Shell style —
E24 Code

P I u g | Accessories see P98-100
SE SE TE TE PG21
Side Entry Side Entry Top Entry G20 Top Entry 5504 Two -Top Entry pG16

PG16

HLE24TE HLE24TT
o .
=
[ & {—Ei /2 ﬁ i\
l@:J [j@ % &
120 120 120
[ 11 ]
L= =3 EJ L o w | 4 B

Receptacle
BH (015 TS
Bulkhead One-Side Entry ' Two-Side Entry PG21
PG16
PG21 — PG21 B~
PG16 PG16
HLE24BH HLE240S HLE24TS
& & I Hoe ] e
‘dld $45 ) | N % f ¢ %[
y 2 H= ) |
130 f ©5.5 || | $55 |
12 140 12 | 132 | ‘ 132
\ T 1.5 144 1.5 115 144 11.5
55 E= _
i f :
32 45 | 45
43 57 L‘_'57_-I
Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
Drill four holes at center intervals
¢
% % 132 E=G
/ }
108 $ q;
: 130 i Unit: mm




o £
. ; H Ejﬁfbﬁﬁaﬁor '|'|.'.'jVS[JD C€ V¢ 1SO9001 1SO14001 1SO45001

— E Series Shell style —
E24 Code

P I u g | Accessories see P98-100
SEL SEL wen| TEL TEL Pzt

Top Entry Top Entry

Side Entry PG29 [ Side Entry

HLE24SEL HLE24TEL
! - z
- 1 )
120 1203 120 1203
y _ L] -
¢ > “ j ol
43 43 i L—~43
Receptacle PV
BHL BCL OSL OCL TSL TCL
Bulkhead Bulkhead One-Side Entry One-Side Entry Two-Side Entry Two-Side Entry
With Cap With Cap With Cap

PG21

=

PG:
PG16

PG21
PG16 PG16

P
PG1

PG

HLE24BHL HLE240SL HLE240CL HLE24TSL HLE24TCL

A N S| b
L i) = la=—— ﬂ’ﬁ ==
”f’ﬂf «i % | [ 4

L i
130 = : = Al 955 i T aosl] <] 455 = — oosl]l <
£ L 132 132
140 m‘ 130 132 132
144 144 144
EF
45
57

PG
PG
PG
PG

i

o | etV

168 | Z; 168 L%-l 222 28 | 57 9.8 15.1 98| 57 98| 151
Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
¢ Drill four holes at center intervals
% 132 4-9
8 & $
/ e
108 $ $
’ ! Unit: mm

130




1ISO9001

1ISO45001

ISO14001

® 4&1/\
LH’/ HuaLun Connector

— E Series Shell style —

Plug

76

PG16

<743*j
57

E24 Code
| Accessories see P98-100
SL SL LI L o
Side Entry Side Entry sl Top Entry Top Entry PG16

Receptacle by

BC oC TC

Bulkhead One-Side Entry Two-Side Entry

With Cap With Cap With Cap
PG21 = PG21
PG16 PG16

HLE24BC HLE240C HLE24TC
a X
M pas | Jm—— - SL;_
2 B
! 1%130 -ijéijisg L&‘ts 17—

The mounting panel does not open rectangular holes

Panel Mounted & Mounting Hole
Drill four holes at center intervals

¢
% 132 4=9
8 8 o {
108 $ $
‘ 130 ‘ Unit: mm




® 'ﬂf.
. ( > Hu;ﬁfciﬁmr T[JVSUD C€ </ 1509001 1014001 15045001

— E Series Shell style —

E32 Code
P I u g Accessories see P98-100
SE TE \os
Side Entry sggg Top Entry
HLE32SE HLE32TE

94 L 825 J 94 L 825 J

Receptacle P
BH oS TS

Bulkhead One-Side Entry Two-Side Entry

PG36
PG29

PG36
PG29

HLE32BH HLE320S HLE32TS
= 3 J;
N o I
4.; IL;”O ¢5'5m4.s 55

94.5

Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
b Drill four holes at center intervals
7

i 2 & e

Unit: mm




® +b
'|'['_'jVS[-JD C € </ 1509001 1SO14001 1SO45001 LH/” HuJLquiffctor .

— E Series Shell style —
E32 Code
Plug | Accessories see P98-100

PG36
SL TL PG29
Side Entry Top Entry L

HLE32TL
;
A
BN [ )
) oD L = TS )
> 19.5 [ 94 ‘19.5 94:5

Receptacle

BC

Bulkhead One Side Entry Two Side Entry

With Cap With Cap With Cap
PG36
PG29

-3 " =Y
HLE32BC HLE320C HLE32TC

PG

(N . 72(@
i, 1] el |

T T T Il Il
055 [ ! 65 $5.5 j
LLP L—‘J 112 I‘%J 1 12

A

124 90 [17.9 125 19.4 2 87 19.4
Panel Mounted & Mounting Hole The mounting panel does not open rectangular holes
6 Drill four holes at center intervals
% 112 4-¢
- w0 k—f
= © $
/ Ig
86 $ $
110 Unit: mm




® 'ﬂf.
. ( > HujﬁfCiﬁctor T[JVSUD C€ </ 1509001 1014001 15045001

— E Series Shell style —

E48 Code
P I u g Accessories see P98-100
SEL TEL e
Side Entry PG36 Top Entry
| PG29
HLE48SEL HLE48TEL
PG
— == 557
m 98 J> 98
== B | \B= e
Receptacle

BCL OCL TCL
Bulkhead One-Side Entry Two-Side Entry
With Cap With Cap

With Cap

ps

HLE48BCL

i
11—
|

The mounting panel does not open rectangular holes
Drill four holes at center intervals

ﬁ 11 4-¢
S & :
f & 49}

148

¢
T
b/

—
0

Unit: mm




	P051.pdf
	P052.pdf
	P053.pdf
	P054.pdf
	P055.pdf
	P056.pdf
	P057.pdf
	P058.pdf
	P059.pdf
	P060.pdf
	P061.pdf
	P062.pdf
	P063.pdf
	P064.pdf
	P065.pdf
	P066.pdf
	P067.pdf
	P068.pdf

